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¥fx)=x'3 < f(x) = x% 1818

glx)=x-5, find g(x)=x—54

(f % g)(x)- (f X g)(x) 224
0 .I"""': a
O x'-5x s
O x'-5x .
O x¥+x-5 ¢
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Simplify {/16(x — 3)1Z.

O 4(x—-37
O 16|(x - 3)3|
O 2|(x—3)"|

O 2|(x—-3)’]
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.J/16(x — 3)12 bz
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2023-2022 plalt - 1541 ol Sl s sl = Sl = al 11 At
[(x) =5x+2 o8y
G =22-3x-1y

(g = )(x) 2

r
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' ~ Scive 5% = 55. Rcund to the Aa e g2 A 55 =55 dlled b
nearest hundredth.

O x= 0.40

O x=1.04

O x=1.70 <
i@ x=2.49 o
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Find the geometric means in the dpatigh a0 “,i Lpea2igh Sl 1 -tg-_’l
sequence 0.2, —,— ,___, 125. 0.2 —,—,—,125
O +2,+10,+15 .
Q.+0.5,41,45 ’
O #1,410,425 N

O +1,5,+25

CamScanner = Ligd d>gwaall



